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Number Search Y5 7 X table

Find the sums in the number search. Circle each one.
Complete the sums below when you have found them in the square.
All the sums are either across, down or diagonally.

O\l x|7|=|7|7|x|7]|=1419]|0
x 02| x/4/=18|1|x/3|=]3
7 4| x|7|=12|8|x|2|=]1]6
=111 7/x|1/=11|7|1|x]|3]=
61 2|=|H51|x[2=|0|x|x|6
3/3/1|=/3|x|7]|1|x|=|7|x
Bix|4(=12/0|74|7 |x|=|3
2 x|1|2/=12|4|=/=|]0|2)=
6 5 7/x|3/=12|0/7|x|1]|1
6| x|7/=14/2|7/8/0/ =88
1 x| 3|=[3|7|8|x|7|=|b|6
1/0/x|5|=/5/0(4|=|H5|6|7
1x7-= 2 x7 =

3x7-= 4 x7 =

Bx7-= 6x7-=

7x7-= 8x7=

9x7-= 10x7-=
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Number Search Y5 7 X table
Solution
O\ x| 7| =\7|7|x|7|=1419]0
x|0|2/x|4|=18|1|x3|=|3
714 | x|7|=2|8|x|2|=|1|6
=117 x]|1 171 x|3)|=
6|2|=1H|1|x|2/=]0|x|x|6
3/13/1/=|3|x|7/1|x|=|7]Xx
5 x| 4(=12/0|714|7|x|=13
2 x|1|2/=12|4|=/=|]0|2)=
6|57 x|3|=|2/0/7|x]1]1
6| x|7|=1412|7/8|0|=,8|8
1/ x|3|=/3|7|8|x|7|=|5]|6
1/0/x|5|=/5/0(4|=|5|6|7
I1x7= 7 2x7=14
3x7=21 4x7=28
5bx7= 35 6x7= 42
7x7=49 8x7= bHé6
O9x7= 63 10x7=70




